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LEXEL PUZZLE 21W

LR L7EIVIKXIL 21W TiER
WERE |74V —O0—"TAK S| M L Mm MH
5 = # EET [O—5—Fz—VAR 25 (mm) 4,700 5,050 5,300 5,050 5,050
P HTEE [O—5>—Fz—AR R & 221 (mm) 1,700 1,850 1,950 1,850 1,850
B B T—hRE |7 —O—THR ﬂﬁbg 2F 2,100 2,100 2,100 1,550 2,100
£ B i ERE (2. KWIL—F(HFT—RE-F =2 brT: 2= (mm) 1F 2,100 2,100 2,100 1,900 2,100
mEh T 0.2ijb—4=1T %V—F:E—Q B1 1,550 1,550 1,550 1,550 2,100
= HTEE [2kWIL—FHF7—RE-% 58 (ke) 1,700 2,000 2,300 2,000 2,000
T—hEE [0.00KWIL—FFT—RE-% Ey hR:L (m) 4,900 5,250 5,500 5,250 5,250
E B AC200/220V =48 50/60Hz  [4.4kW(10.0kVA) BA—ZHR0E Lt (mm) | 5,400 5,750 6,000 5,750 5,750
= " |AC100V 48 50/60Hz_ [1.0kW (1.0kVA) # RO FEP o (mm) 2,350 2,450 2,550 2,450 2,450
RIERE Y FIRFILIEER T # B|E v b EW (mm) [PxE#+400] Px:&E#+400 | PxiE#k-+400 | P& % +400 | Px:E%+400
2=k 28—10&4 | 3&E—-16&A | 4&-22& N R | BIIEY MRS HpF(mm) | 2,020 2,020 2,020 2,020 2,570
— E—288 | 6E-34A | # 7| By MRS HoR(mn) | 1,920 1,920 1,920 1,920 2,470
MAERICRNARY VI EEL T BRVEDE RS, & A & StHt (m)| 4,450 4,450 4,450 3,700 4,550
A ESES Hg (mm) | 3,490 3,490 3,490 3,290 3,490
B & 5 :Hk (m)| 5,510 5,510 5,510 5,310 6,060
A/B(ke) 850/1,700 | 1,000,/2,000 | 1,150,/2,300] 1,000,/2,000 | 1,000./2,000
BEE C/D(ke) 850,/1,700 | 1,000,2,000 | 1,150,/2,300 | 1,000,/2,000 | 1,000./2,000
E/F (ke) 1,6501,300] 1,800/1,450 | 1,950,/1,600 | 1,800,/1,450 | 1,800./1,450
G/H(ke) 1,500/1,300 1,650./1,500 | 1,850,/1,700 | 1,650,/1,500 | 1,650./1,500
| 2F[Au#] [P/ A&ii] (#2) | 186~102/18 | 18~103/18 | 18~110/18 | 18~101/18 | 18~111/18
1E & | TF[EIH] (ML /48 0] (7)) 18/18 18/18 18/18 18/18 18/18
L2EIVISZIL 21W SEZRKE\ B [ | AR/ 18ih] (1) | 18~71/18 | 18~72/18 | 18~76/18 | 18~72/18 | 18~80/18
B [T ] (7 ~ ~ ~ ~ ~
XS EREOTEL EEMOTEC D ET, Bi[gIf&] [/ #&0] (#) | 18~106/18 | 18~107/18 | 18~114/18 | 18~107/18 | 18~123/18
8,050 (EEHEIE 1 W+300)
150 7,750 (Ev R&: W) (?Eg%)
(E%iE) e e BRI
200 ||, 2450 gEAmE Al
3 { GO PW (REETH \
e B a ol
5 L ' : |
- ) e ) \ (500) 50260 (EvhgEa: 1) 850, 5250 (Evhga: L) 480 (120)
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LEXEL PUZZLE 31W

LR L2EILIXXIL 31W TiER
WERE [747—O0—"7A= S M L Mm MH
5 = # EET [O—5—Fz—VAR 2K (mm) 4,700 5,050 5,300 5,050 5,050
T HTERE [O—>—Fz—VAR 21 (mm) 1,700 1,850 1,950 1,850 1,850
B & T—rRE I —0—773 P 3F 2,100 2,100 2,100 1,550 2,100
® B e EFE [2.2kKWTL—+f FP—RE=5 AJREER £ (m) 2F 1,550 1,550 1,550 1,550 2,100
mEh # ERET [0.2kWTL—FfFT—RE-% # T = 1F 2,100 2,100 2,100 1,900 2,100
= WTFRE [2.2kWIL—FFT—RE=% B1 1,550 1,550 1,550 1,550 2,100
T—hEE [0.0kWIL—FHT7—RE-% 55 (kg) 1,700 2,000 2,300 2,000 2,000
= R AC200/220V =#8 50/60Hz [ 4.4KW (10.0kVA) Eyv h&ESL (m)]| 4,900 5,250 5,500 5,250 5,250
= "M IAC100V ##8 50/60Hz_ [1.0KW (1.0KVA) HEAR—ZF0E Lt (mm) 5,600 5,950 6,200 5,950 5,950
BIERE Sy FINRILGEEA R = B0 BEP (mm)| 2,350 2,450 2,550 2,450 2,450
EETS 28—128 | 3&E-20&8 | 4&E-28& # B E v ~ @EW (i) [Px:E#+400| PxEE4+-400| Px:&@#8+400 | PxE#+400| Px:E#+400
— 5E—36E | 6E-445 | N K [EIFIEY MRS HpF () | 2,020 2,020 2,020 2,020 2,570
MARICBVNANY 2 I EEL T BEVEDELEEL, =T ?é’;"lJt"‘yl:_%é:le(%(r)nm) 1,920 1,920 1,920 1,920 2,470
SN BB DS AR EIDE T END E<HBhET, E-i j( = o Ht (mm) % 6,110 6,110 6,110 5,360 6,660
ORNEROBEKENDETHA200mE o ESBESE Homk | 4410 | 4410 | 4410 | 4210 | 4,960
B & B S Hkm*k 6,430 6,430 6,430 6,230 7,530
A/ B(kg) 1,700./3,400 | 1,850./3,700 | 2,050./4,100 | 1,850,/°3,700 | 1,850,/°3,700
RS C/D(ke) 1,700,/3,400 1,850,/3,700 | 2,050,/°4,100 | 1,850,/3,700 | 1,850./3,700
E/F(kg) 1,650,/1,300 | 1,800./1,450 | 1,950,/1,600 | 1,800,/1,450 | 1,800,/1,450
G/H(ke) 1,500,/1,300 | 1,650./1,500 | 1,850./1,700 | 1,650,/1,500 | 1,650./1,500
SFLaT#] [Pt/ #&4m] (7)) | 18~142/18 | 18~143/18 | 18~156/18 | 18~141/18 | 18~159/18
LoEILISZIL 31W SEZ2EHE e g | ZELERIIEE /AR () [18~120/18] 18~121/18 | 18~131/18] 18~119/18 [ 18~129/18
XEEMAOTER. EEMOT AR ET B 1F[R5] [P/ 48] (72) 18/18 18/18 18/18 18/18 18/18
KEZRED AR REMOWAS ° b P[5 (PP /#4m] (#) | 18~89/18 | 18~90/18 | 18~96/18 | 18~88/18 | 18~98/18
Bilai#&] [Fe/4&40] (7) | 18~124/18 | 18~125/18 | 18~135/18 | 18~123/18 [ 18~141/18
8,050 (EEAEIE | W+300)
150 7.750 (Ev Mg : W) 150
=) EEAEE  ||EEs
200 2,450 27TV A ][200
5 (D P) (REATH)
§ X
3
10 (500) 5250 (KwhES D) 1,050 5250 (EvhEE:L) 680 (120)
% <1a§5m0> gégm) 5,950 (HE~—XHubEg < Lt) | 350 | 5,950 (EA—Z b : L1) uLd
s B AR
g (K7RBAN-R) (KPR RR—2) 220 480 220 480
T o e e =
g e H e P MR i =9 | -
i N & i HkEy N || BENIE) i 7YITA | g
# e | (BEAITEH) ig k!
3 & @%7&@7”7’*’@@%&@7*"’"*’%@@’ e |a
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e 200 200 h © @ ¢ ‘o °
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(BE) 5050 (EEHEE 1 W+300) ()
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8,050 (EEHEIE : W+300) 905420 5250 (Ey hEE:L) 1050 5250 (Ey hES:L) 680 1,005
AR BT
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LEXEL PUZZLE 41W

LEXEL PUZZLE 41w 40

LR L2EIVIXXIL 41W TiER
WEFE [7147—0—7AK S M L M8 MH
5 = g7 |O—>—Fz—VAR 25 (mm) 4,700 5,050 5,300 5,050 5,050
PHTEE |[O—>—Fz—VA= 21 (mm) 1,700 1,850 1,950 1,850 1,850
B & T—hEE |74 VP—0—"TAK R & 4F 2,100 2,100 2,100 2,100 2,100
£ B W EFE [2.2kWIL—FfF7—RE-% EJ‘*“% 3F 1,550 1,550 1,550 1,550 2,100
mahi i ERE1T [0.2kWIL—FfiFV—RE-% %Ebj—z 275 (mm) 2F 1,550 1,550 1,550 1,550 2,100
WTFERE [2.2kWIL—FfFv—RE-% 1F 2,100 2,100 2,100 2,000 2,100
T—hFE [0.0KWIL—FFT—RE-% B1 1,550 1,550 1,550 1,550 2,100
AC200/220V =48  [4.4kW (10.0kVA) 58 (ka) 1,700 2,000 2,300 2,000 2,000
& R [50/60Hz 4.8kW (12.0kVA) vy bESL (m)| 4,900 5,250 5,500 5,250 5,250
AC100V E48 50/60Hz [ 1.0kW (1.0kVA) HEAR—ZH0E Lt ()| 5,600 5,950 6,200 5,950 5,950
BIERE Ty FIRILFE A = B0 BP ()| 2,350 2,450 2,550 2,450 2,450
d=—yh 28145 [3E 244 [ 48345 [ 5E—44E i = E v bk EW (mm)|Px&E#+400 | PxE#+400 | Px:&E#1+400 | PxE#-+400 | Px:E#+400
MERNEAHE. 51 TIcEDBEDET, i}z ; BIFIEY MRS HpF (mm) | 2,020 2,020 2,020 2,020 2,570
KRFHC LD AEB RSB 2EANBNET, = '775 ®IIEY MRS HoR(mm) | 1,920 1,920 1,920 1,920 2,470
KERICAVANY Z IR EE LTI SEVADE RS, B R & ScHtmkl 7,760 | 7760 | 7760 | 7.660 | 8860
SR A B DI A A El <+ y = b EEBEE RS - Hy(m) | 6,060 6,060 6,060 5,960 7,160
XLH AR EDBZBEREIDE T EN400mZ< RN ET, BB S &Kk 8.080 8.080 8.080 7,980 9.730
BIEBHI RS He ()% [ 6,500 6,500 6,500 6,500 7,600
A/ B(ke) 2,500,//5,000 | 2,750,/5,500 | 3,050,/°6,050 | 2,750,/5,500 | 2,750,/5,500
REE C/D(ke) 2,500,//5,000 | 2,750,/5,500 | 3,050./6,050 | 2,750./5,500 | 2,750./5,500
8 E/F (ke) 1,650,/1,300 | 1,800,/1,450 | 1,950,/°1,600 | 1,800/1,450 | 1,800,/1,450
bat}bl(Z‘}b 41W §%I§IE G H(/k’) o) 1,500,/1,300 | 1.650,/1,500 | 1,850./1,700 | 1,650,/1,500 | 1,650./1,500
. - s e AF[ane] (M9 /#85m] (#) | 18~186/18 | 18~187/18 | 18~204/18 | 18~185/18 | 18~217/18
HEZHED YA EBMBOTHCBDET . | BF[RUA] (it 1R8] (39) | 18~164/18 | 18~165/18 | 18~180/18 | 18~163/18 | 18~188/18
8,050 GEELEE | W+300) 1E 2 | 2F[EifR] (ML /#840] () | 18~142/18 | 18~143/18 | 18~155/18 | 18~140/18 | 18~158/18
150 7.750 (Ev FiE: W) 150 B A | AF[R05] (PP /48] (72) 18/18 18/18 18/18 18/18 18/18
(18 =B E (@38 1F[5] [P/ #4m] (#2) | 18~111/18 | 18~112/18 [ 18~121/18 | 18~111/18 | 18~127/18
_ 200 2,450 RETTVR 200 Bi[Ai#& 1[I/ #&ih] (7) [ 18~146/18 | 18~147/18 | 18~160/18 [ 18~146/18] 18~174/18
S (FEFDE :P) { (gﬁ«awz;)
; (500) 5250 (Ey hEE L) 1,050, 5250 (Fy hES D) 680 (120)
I 150 150 5,950 (EER—eFuiif : L) | 350| 5950 (FE~—Z AU : L1) kD
NG (541E) 1220 480 1220 480
o | (K7EEAR-2) (K7RA2A-2)
pt S 150 S
(L(\')L (Y] A\ +‘ ™ \ N
” E 2 e | e@)rese %@ =
g <& @i 7 YT ATA bﬁéﬁ{%\) o1 i 1\@(@%' LEL /W‘* 9=
= g || e 2z | BN | e
# (EZETEH) | | || (2EEIH) #
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- REBAIY Y (5
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EEE s
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LEXEL PUZZLE 51W

R L2EILIKXIL 51W TiER
WERE |717P—0—7ARK S M L Mm MH
5 = T |O—5—Fz—VAR @E_(mm) 4,700 5,050 5,300 5,050 5,050
| WTEE [O—>—Fz—VAR 21 (mm) 1,700 1,850 12,51388 1,858 12,?88

B & T—hEE |71V —0—"7AK 5F 2,100 2,100 , .55 \

x B th EF 2.2kW7‘:I/—=\=1T %V—I“‘E—? R B 4F 1,550 1,550 1,550 1,550 1,800
Eap o BT [ 0.2kKW7L—F1 =\"—\V—|\“'E—$7 _ﬁ[ﬁ?% 25 (m) 3F 1,550 1,550 1,550 1,650 1,550
RS o e T 2900 | 200 | 2100 | 1900 | 2300

T—hFE [0.0kWIL—FFFT—RE— , ; , ; ,

= R AC200/220V =18 50/60Hz |4.4kW (10.0kVA) B1 1,800 1,800 1,800 1,550 2,100

= " |AC100V 18 50/60Hz_ [1.0kW (1.0KVA) = I\Es("ctg)L _ lg%g 2(2)28 gggg gggg 523(2)28

BIEAE FyFIRILIFEA R * Y ; mm , , , ] )

a=vhi| 25&E—16&8 [ 3F-28& | ER=ZFLE Lt Emmg 5,600 5,950 6,200 5,950 2,258

= N _ N = RO E:P (mm 2,350 2,450 2,550 2,450 5

XBANALKI, (T EDBBOET, i

MEFRICED, REB RN BB BN BDET, %= B t|§ué t m; XHQFB PX%%%B“OO lez%%m PX%%‘OO szﬁé%m PX§§B4OO

HERICBVARY I EE LT BEVADEL S, 5 A ﬁ 2 : : : : :

v = sa = . N . sy = 15:’7"“:/ RS - HpR (mm) 2,170 2,170 2,170 1,920 2,470

MBHARBOBE. B FEMMO/ W T -2 20 FiEEAED, # T E X B =H k| 9410 9410 9470 8660 9660

XHIOETFEAMSImmEE < TOET L EvBEES Homk | 7710 | 7710 | 7.710 | 7.510 | 7.960

B S s é'HkEmm))* 9,980 9,980 9,980 g,g?g 190’256300
BIEBHIBR =S He ()% [ 9,010 9,010 9,010 , ,
A/ B(ke) 3,300./6,600 | 3,650,/7,300 | 4,050./8,000 | 3,650./7,300 | 3,650/7,300
z P REE C./D(ke) 3,300./6,600 | 3,650,/7,300 4,050?8,000 3,650?7,300 3,650;7,300
JL/N W . E/F (kg) 1,650/1,300 1,800,/1,450 | 1,950,/1,600 | 1,800/1,450 | 1,800./1,450
ba }b 4“, L . _%%EIE G/H(ke) 1,500,/1,300 | 1,650,/1,500 | 1,850,/1,700 | 1,650,/1,500 | 1,650./1,500
HEZRED AR EBMOTEIBDET, [ SF LRV ] (i, TR ) | 18~226/18 | 18~227/18 | 18~244/18 | 18~223/18 | 18~233/18
AF[aT#] [P/ 1&4m] (72) | 18~206/18 | 18~207/18 | 18~221/18 | 18~203/18 | 18~210/18
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